
Master TG • Grade 2 • Unit 3 • Lesson 3  

Co
py

rig
ht

 ©
 K

en
da

ll 
H

un
t P

ub
lis

hi
ng

 C
om

pa
ny

Subtraction Problem Types:
Separate/Take Away

1. Levi is given 11 beanbags to toss into the buckets at the
carnival. Seven bags land in the buckets and the rest land
outside the buckets. How many beanbags do not land in the
buckets?

– =

2. There are 15 people waiting in line to go into the fun house.
After a five-minute wait, 7 more people go into the fun house.
How many people are still waiting in line?
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